Eo2ER itk HER(BFEK) £#

FR27%7R138
EFREAKFE
o e "y el Wt
LD M | ®iE | RR | AM
P& (1) # KFQO) I BAO)
1 MREAPERD THE &80) ¥ H(1) FH HEG) | 5000 | 4.750 9.750 4
SUSH&R(2) MNH BH2) @F BRG0)
2 HRAhERC S0 RBO) WERZNMAO) FE BMQO) 5.500 | 5.650 11.150 3
R R
AEH PEQ) BF AHOG) £H# F2Q)
3 AREPERA % AFQ) F#H #3(3) M &) | 7.000 | 7.600 14.600 1
FH EM(Q2) Li WEQ)
B —3(3) HMEENmMe 238 KEQ
4 | WREBEEB | %R RAQ) #HB RE¥Q@ HH R(1) | 6650 | 6.650 13300 | 2
BKx XKQ) B BN
g 3 5HPE B 4=




Fo2E Rk HER(BFEAN) Ei

ERE27%E7R138
EFREAKEE
a5 BARE

e REE | HR

2ol 749 | W | gam| 2397 [ et |BaW
1| =@ B® | @A LedY | 3 | ERE| 1 6800 | 6 | 4 6750 | 9 | 13550 | 7
2 | BR BA [B0T YsSt| 2 [ARE| 2 5750 | 13 | 5 6300 | 11 [ 12050 | 12
3 | @a % | 3t 3% | 2 [ARm| 3 7700 | 2 | s 8.100 1 | 15800 [ 1
4 | % AW |ceses avos| 2 [ARM| 4 6600 | 8 | 1 5750 | 14 | 12350 | 10
5 | % K# |FE0 f-\Cw| 3 |ARE| 5 XiE 2 XiE
6 | BB KH |dawFE | 2 |ARE| 6 5900 | 11| 3 5850 | 13 [ 11.750 | 13
7 | 0% B8 | bo =35 | 2 |&RE| 7 5150 | 14 | 10 | 5350 | 16 [ 10500 | 15
8 | =va Mgk a0t tb0| 2 |ARm| 8 4900 | 15| 11 | 5550 | 15 | 10450 | 16
9 B WA | e vedsTr| 2 |ARm| o 6000 | 10 | 12 | 7000 | 6 | 13000 | 9
10| tB —3 | o5% »¥e | 3 |@Rm| 10| 7000 | 3 | 7 7400 | 3 | 14400 | 3
1| &% w8 | L <25 | 2 |@mRm| 11 | 6850 | 5 | 8 6.850 7 | 13700 | 6
12 | 8% Rfa | 5% 93| 2 |mRm| 12 | 5800 | 12| 9 6350 | 10 | 12150 | 11
13 | &# %2 | »uv vee | 3 |@mRm| 13 [ 6600 | 8 | 16| 7600 | 2 | 14200 | 4
14 | & @3 | B w>& | 3 [ARm| 14 | 6900 [ 4 [ 17| 7050 [ 5 [ 13950 | 5
15 | btk @& | paEL B0 | 2 |ARm| 15 | 6650 | 7 | 18 [ 6800 | 8 [ 13450 | 8
16 | ¢l X8 | ve> vae | 3 |aRm| 16 | 7.750 1 | 13| 7200 [ 4 | 1495 | 2
17 | #Kk WK | 9% F05 | 2 |&R@| 17 XiE 14 E 2]
18 | #B1% RE |FLIE Y5~ 2 |#&RE| 18 4.750 16 | 15 5.900 12 10.650 14

% FBARE 2 = —




Fe2mERhiE FHER (XFEE)

E

FR27%7/138
BEFREAKTE
el pus P o | ¢ Mism an | T
MBEMGQ)  JIXBMEQ)  MHREREG)
1 TNBRhEE EILRE (2) {ERREL (2) 2.200 | 4.300 0.60 5.900 3
FEEEQ2) BEHEQ SEWEQ) Ca
EAKDY@E) BHEREG) RAREQ)
2 LHEpER BEFEQ) 3% 1&)) 1.800 | 3.450 0.60 4.650 4
SHREQ?) TFEERQ e
REREGQ) AL BQ  NHELQ)
3 BEAEATEEE BESE(Q) NAEEXQ) 2950 | 4.950 7900 | 1
RAEBE()
E#AEQ2) BONEQ) FESIRQ)
4 e heR NEXAHY(Q2) RFBEEQ) 3.300 | 4.000 0.60 6.700 2
ki $(2) 2 0%
BMENBQ) ABEEQ)  BEXDEO)
5 HREZPEE |RyEHEEME) SHFEQ) 1.600 | 3.100 0.60 4100 5
BHERE(Q) IBEHQ Cets

B

t

B3 20



Fo2m Rk AR (ZFEAN) EH: 2EIRLL

ERR27%7R138 EFREGHE

2 n—-7 72— BARE

5 REL 2 E m -

. #| o | e |ma|an| ®m & o | £ |ma|an| m | o |eew

] |

1| #He B |esEowras| 1| EA | 1] 1.750 | 4350 6.100| 7 |10 1.800 | 4.400 6200 7 |12300| 7

2 | BIRBRE (osh vian| 1+ | B | 2| 1.150 | 3.750 4900| 10 | 11]0.750 | 3.500 4250| 15 | 9.150| 13

3| BEHYE |CA0 &pE| 1| A | 3| 1.150 | 4050 5200| 9 |12] 1150/ 3.950 5100 | 11 |10.300| 9

4| MW |x4E> ka2 | KIREE| 4 | 0.300 | 2.350 2650 19 |13 XiE 2650 | 19

5 | SEAFE | &L bH%D| 3 |wR®=| 5 | 0.600 | 3.600 4200| 14 | 14| 0.650 | 3.450 4100| 16 |8.300| 16

6 | FrAksEEx (el sz 1| 5EFE | 6 | 0.800 | 3.350 4150 | 15 |15 1.000 | 3.550 4550 | 13 | 8.700| 14
14>

7| WHR W |f=HMELYA| 1| 26 | 7 | 1.000 | 3.600 4300| 13 | 18| 1.050 | 3.850 4900| 12 |9.200| 12
0.30

8 | WELBH [HLbd <3| 3 [BES] 8| 0300 3.150 3450 | 17 |17 i 3450 | 17

9 | MIRE | BHD (34| 3 | HKH| 9 | 4.000 | 6.150 10.150| 2 | 18| 4.000 | 5.600 9600| 2 |[19.750( 2

10| BRINTER |s0pb wen| 2| EE [ 10| 2.600 | 4.500 7100 5 |19] 2.650 | 4.600 7250| 5 |[14350 5

1| EWHEK | XS5 wH| 1| £EB | 11| 1.500 | 3.900 5400| 8 1| 1.500 | 3.850 5350| 8 |10.750( 8

12| BHER |Ta bavk| 1 [#mRE=| 12| 0.700 | 3.150 3850 | 16 | 2| 1.050 | 3.450 4500 | 14 | 8350 | 15
244

13| FIAREE|HAWL HH| 2 |AES| 13| 2150 | 5.050 7150 | 4 3 | 3.300 | 5.300 8600| 4 |15.750( 4
0.05

14| BECRE |EL hup| 1 | HXH| 14| 0.750 | 3.700 4450| 12 | 4| 1.450 | 3.750 5200 9 |9650| 11

15| INBEFR|boTs oL 2 | KiRA| 15| 0.300 | 2450 2750 18 |5 i 2750 | 18

16| BBSERE|cAn son| 3| L5 | 16| 2.900 | 5000 7900 3 | 6| 3.850]( 5500 9350 | 3 |[17.250| 3
84 L

17| WEIFF=D | vuer 35| 3 | W [ 17] 5.100 | 5950 11.000| 1 7| 4.650 | 6.000 10650 1 [21.650 1
0.05

18] NABE |soesvsay| 1 | BN | 18| 0950 | 3.900 4850 11 | 8| 1.300 | 3.850 5150 | 10 |[10.000| 10
S4L

19| FkE | 2<5 $%| 3| L5 | 19| 2450 | 4.650 7050 6 9 | 2.450 | 4.650 7100 | 6 [14.150 6
0.05

w4 E Fee [AR3






